
 

 

 

 

 

 

 

 

 

 

 

 



1. Select the sentence structure that is grammatically

correct and meaningful.

(a) Please remember that five times three are fifteen.

(b) Are that five times three fifteen remember please.

(c) Remember please that five are three times fifteen.

(d) Remember that three times five please fifteen are.
DSSSB – TGT, Science Female [27th Sept. 2018, 4:30-6:30 PM]



2. In the following sentence, four words/phrases have been

underlined. One of them is incorrect. Choose the

incorrect word/phrase from the given options.

The color of the litmus paper change when we put

acid in the beaker.

(a) change (b) in the beaker

(c) of the    (d) we put
DSSSB – TGT, Science Female [27th Sept. 2018, 4:30-6:30 PM]



3. Choose the most appropriate grammatical sentence

from the following.

(a) Is your brother's wife attending the party?

(b) Are your brother’s wife attending the party?

(c) Is your brother wife attending the party?

(d) Is your brother’s wife attending the party?
DSSSB – TGT, Science Female [27th Sept. 2018, 12:30 PM]



4. Choose the most appropriate grammatical sentence

from the following:

(a) What will you do when you finish classes?

(b) What would you do when you will finish classes?

(c) What would you do when you finishes classes?

(d) What will you do when you will finish classes?
DSSSB – TGT, Science Female [27th Sept. 2018, 12:30 PM]



5. Choose the most appropriate grammatical sentence

from the following:

(a) The newly wedded couple have decided to fly to

Singapore for their honeymoon tomorrow evening.

(b) The newly wedded couples has decided to fly to

Singapore for their honeymoon tomorrow evening.

(c) The newly wedded couple has decided to fly to

Singapore for their honeymoon tomorrow evening.

(d) The newly wedded couple have decide to fly to

Singapore for honeymoon tomorrow evening.
  DSSSB – TGT, Science Female [27th Sept. 2018, 12:30 PM] 



 

6. Choose the most appropriate grammatical sentence 

from the following: 

 (a) I have had a great time at your party last week. 

 (b) I had a greatest time at your party last week. 

 (c) I had a great time at your party last week. 

 (d) I have a great time at your party last week. 
  DSSSB – TGT, Science Female [27th Sept. 2018, 12:30 PM] 

 

 

 



7. Choose the most appropriate grammatical sentence

from the following:

(a) Something needs to be done for improving his marks

(b) We need to do something for improving his marks

(c) We need to do something about improving his marks

(d) Something need to be done about improving his

marks
  DSSSB – TGT, Science Female [27th Sept. 2018, 12:30 PM] 



 

8. Choose the correct passive form of the sentence 

provided below: 

 She has sent a letter to a number of students. 

 (a) A number of students have been send letters by her. 

 (b) A number of students have received a letter from her. 

 (c) A letter has been sent to a number of students by her. 

 (d) A letter have been sent by her to a number of 

students.  
  DSSSB – TGT, Science Female [27th Sept. 2018, 12:30 PM] 

 



 

9. Choose the most appropriate grammatical sentence 

from the following: 

 (a) Who is supplying these students such dangerous 

drugs? 

 (b) Who is supplying these students with such dangerous 

drugs? 

 (c)  Who are supplying these students such dangerous 

drugs? 

 (d) Who is supplying these students on such dangerous 

drugs? 
  DSSSB – TGT, Science Female [27th Sept. 2018, 12:30 PM] 



 

10.  Choose the most appropriate grammatical 

sentence from the following: 

 (a) Three quarters of the students is against the new rules 

 (b) Three quarter of the students are against the new 

rules 

 (c) The three quarters of the students is against the new 

rules 

 (d) Three quarters of the students are against the new 

rules 
  DSSSB – TGT, Science Female [27th Sept. 2018, 12:30 PM] 

 



 

11. Choose the most appropriate grammatical sentence 

from the following: 

 (a) The number of engineering colleges are gradually 

being reduced. 

 (b) The number of engineering colleges are gradually 

reduced. 

 (c)  The number of engineering colleges is gradually 

being reduced. 

 (d)  The number of engineering colleges is gradually 

reduced. 
  DSSSB – TGT, Science Female [27th Sept. 2018, 12:30 PM] 



 

12. Choose the most appropriate grammatical sentence 

from the following: 

 (a) Although he was angry, but he wouldn't accept the 

apology. 

 (b) Since she was driving, so we decided to go with her. 

 (c) Though it is raining, yet we did not take the umbrella. 

 (d) Although she confessed the truth, we couldn't believe 

her. 
  DSSSB – TGT, Science Female [27th Sept. 2018, 12:30 PM] 

 



 

13. In the following sentence four words/phrases have been 

underlined. One of them is incorrect. Choose the 

incorrect word/phrase from the given options. 

 Traffic policemen often stand in shade after a red light 

to stop and fine the motorists or motorcyclists which 

jump the red light. 

 (a) To stop and fine   (b) Which jump 

 (c) After a red light  (d) Often stand 
  DSSSB – TGT, Science (M) [29th Sept. 2018, 08:30 AM] 

 

 



 

14. Select the sentence structure that is grammatically 

correct and meaningful. 

 (a) On my birthday my book gave a mother to me. 

 (b) A book gave my mother to me my birthday on. 

 (c) My mother gave me a book on my birthday. 

 (d) Birthday on my gave my mother me a book. 
  DSSSB – TGT, Science (M) [29th Sept. 2018, 08:30 AM] 

 

 



 

15. In the following sentence, four words/phrases have been 

underlined. One of them is incorrect. Choose the 

incorrect word/phrase from the given options. 

 Heart diseases normally results in damage to the heart 

muscle, the valves or the pace maker. 

 (a) to the heart muscle (b) results 

 (c) normally        (d) or the pace maker 
  DSSSB – TGT, Science (M) [29th Sept. 2018, 12:30 PM] 

 

 



 

16. Select the sentence structure that is grammatically 

correct. 

 (a) He has finished the just job you gave him. 

 (b) He has just finished the job you gave him. 

 (c) He has gave the job you just finished him. 

 (d) The job you gave him just he has finished. 
  DSSSB – TGT, Science (M) [29th Sept. 2018, 12:30 PM] 

 

 

 



 

17. Select the sentence structure that is grammatically 

correct. 

 (a) The Dragon tree with white flesh inside produces an 

oval shaped fruit, which can be eaten raw. 

 (b) An oval shaped fruit with white flesh inside, the 

Dragon tree produces, which can be eaten raw. 

 (c) The Dragon tree produces an oval shaped fruit with 

white flesh inside, which can be eaten raw. 

 (d) An oval shaped fruit, which can be eaten raw with 

white flesh inside, the Dragon tree produces. 
  DSSSB – TGT, MATHS (F) [18th Sept. 2018, 4:30-6:00 PM] 



 

18. In the following sentence, four words/phrases have been 

underlined. One of them is incorrect. Choose the 

INCORRECT word/phrase from the given options. 

 You can go now but you must be back in the office 

between 4 o'clock. 

 (a) can go  (b) between 

 (c) must be back (d) but 
  DSSSB – TGT, MATHS (F) [18th Sept. 2018, 4:30-6:00 PM] 

 

 



 

19. In the following sentence, four words/phrases have been 

underlined. One of them is incorrect. Choose the 

INCORRECT word/phrase from the given options. 

 No sooner we boarded the train than it started and 

picked up the speed. 

 (a) No sooner  (b) picked up 

 (c) Than it started (d) we boarded 
  DSSSB – TGT, MATHS (F) [18th Sept. 2018, 4:30-6:00 PM] 

 

 



 

20. Choose the incorrect statement from the following 

sentences. 

 (a) They ought not be allowed to park their vehicles here. 

 (b) There ought to be more police petrol at nights in the 

city. 

 (c) Ought we to be more worried about the pollution? 

 (d) You ought not to have spoken to your father like that 
  DSSSB – TGT, MATHS (F) [22nd Sept. 2018, 12:30 PM] 

 

 

 



 

21. Fill in the blanks with the most suitable option. 

 The second part of the book was not very interesting, 

but, ________ all of the mystery. 

 (a) At the end of the book lie the hints that forces us to 

read the third part of the book which reveal 

 (b) At the end of the book lies the hints that forces us to 

read the third parts of the book that reveals 

 (c) At the end of the book lies the hints that force us to 

read the third part of the book that reveal 

 (d) At the end of the book lie the hints that force us to 

read the third part of the book which reveals 
  DSSSB – TGT, MATHS (F) [22nd Sept. 2018, 12:30 PM] 



 

22. Choose the correct statement from the options given 

below: 
 (a) Neither the members of the audience nor the orchestras know 

what happened to the manager of the auditorium after the 

programme. 

 (b) Neither the members of the audiences nor the orchestra knows 

what happened to the auditorium manager after the programme. 

 (c) Neither the members of the audience nor the orchestra knows 

what happened to the manager of the auditorium after the 
programme. 

 (d) Neither the audience nor the orchestra know what happened to 

the manager of the auditorium after the programme. 

  DSSSB – TGT, MATHS (F) [22nd Sept. 2018, 12:30 PM] 



 
23. Choose the correct statement from the given options. 

 (a) In the farming sector, there are no new companies investing at the 

moment, which is difficult for farmers to continue in this field. 

 (b) In the farming sector, at the moment there are no new companies 

investing, which makes it difficult for we farmers, to continue in this 
field. 

 (c) In the farming sector at the moment, there are no new companies 

investing which make it difficult for we farmers to continue in this 
field. 

 (d) In the farming sector, there are no new companies investing at the 

moment, a fact that makes it difficult for us farmers to continue in this 

field. 

  DSSSB – TGT, MATHS (F) [22nd Sept. 2018, 12:30 PM] 



 

24. One of the options is a complete sentence? Identify it. 

 (a) Rice and Curry. 

 (b) The bird on the tree. 

 (c) There's always light at the end of the tunnel. 

 (d) Folk tales. 
DSSSB – TGT, MATHS (M) [23rd Sept. 2018, 2:00 PM] 

 

 

 

 

 



 

25. Which sentence makes most sense? 

 (a) Since he's lost his money, he couldn't go to the 

restaurant. 

 (b) Since he's lost his money, he go to the restaurant. 

 (c) Since he's lost he money, he couldn't got to the 

restaurant. 

 (d) Since he's loss his money, he couldn't go to the 

restaurant. 
DSSSB – TGT, MATHS (M) [23rd Sept. 2018, 2:00 PM] 

 

 

 






